1. (x+aP=x+bx+9 ¥, a-b9 7S A5tk (Ha>0)
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a?=9 ra=3

(x+3)2%2=x2+6x+9 . b=6
W2td a—-bh =3 -6 = -3 o]t}




2.

(x=8y)* = * +axy+by> & W, a+b o] FZ Ftolet.

(x = 8y)? = x? — 16xy + 64y? °|B2 g = -16 , b = 64 ©|T},
sa+b=-16+464 =48




© (-a-b)* ={-(a+b)}* = (a+b)

@ (~a+b)?={-(a-b)}* &, (a-b)? = a® - 2ab + b>
®(-a+2)(-a-2)=(-a)?-22=a*-4

@ (2a-b)? = (2a)> -2 x2ax b+ b? = 4a® - 4ab + b?
® (a+b)?-(a-b)? = 4ab




x—y=52x"+y"=9 <4 W, xy o] Fh27

@ -5 @—8 ® -10 @ -12 ® -14

B

(x=y)%+2xy = x> +»°
25+ 2xy = 9
2xy = -16

Loxy=-8




5.1x4.9 & ZHH8| A4} Slste] o] §Ele B4l BAloR AU
ALY

(a-b)? =a® - 2ab + b?
a+b)(a-b)=a®-b*

x+a)(x+b)=x*+ (a+b)x+ab

© ® ©® e

(
(
(ax + b)(cx + d) = acx® + (ad + bc)x + bd
(

a+b)?=a®+2ab +b?

51x4.9 = (5+0.1)(5 - 0.1) = 25 - 0.01
TEA] (a +b)(a - b) = a® - b* & AHERTE




(82 -1)(82+1)(8* +1)-88
(8t —1)(8*+1)-88
(8% -1)-88

(8-1)(8+1)(82+1)(8* +1) -8
L
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_ 1003 x 1005 + 1 .
A& o]-8-5tof BTV = Aitstolet,

1004

(1004 - 1)(1004 +1) +1 _ 1004 -1 +1

1004 1004
= 1004




8 a+b=6ab=8<L W, a2+ b2 2 F2?

Do @ 10 ® 15 @ 18 @20

a?+b%=(a+b)?-2ab°]EE, 62 -2x8=236—-16 =20




9.

x+y=3,xy=-4L 0, (x-y)? 9 F2?

@® 20 @25 ® 7 @ 5

® 10

(x=y)2=(x+y)?—4xy=32-4x%x(-4) =25




A FAE A8, 201 x 199 & Al o 71w
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201 x 199 = (200 + 1)(200 — 1)
= 2002 — 12
— 39999

"~ (a+b)(a-b) =ad®-b*E o] 83Tt




